Sl =2 EERE)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 49,771,818 48,524,534 1,247,284
= 2,410,210
T 2,615,407
Al 44,746,201
Nee A4 S d 28,231,000 27,264,000 967,000
& 360,000
Al 27,871,000
S22 18,328,000 15,628,000 2,700,000
T 200,000
Al 18, 128,000
E2I 4,528,000 3,728,000 800,000
201 B2 AY| 10,000 10,000 0
01 A=R2teld| 10,000 10,000 0
Oget=2H| 10,000
—SEI N L ARS 10,000
203 PRF=&Y| 3,000 3,000
03 A F=AHRFAIH| 3,000 3,000
OXNYEZSIIAIY =& 3,000
207 AR 400,000 400,000
01 H72=29| 400,000 400,000
O&E=224 - 2elHEe € sHEER D2
ZHIHE 8 400,000
401 AIEHIZL 200 3,115,000 2,715,000 400,000
01 A&t 3,100,000 2,700,000 400,000
OMAIEHY 1A(NBER, DY, SFDI
g 8) 200,000
OO0IKI=EX 24t 700,000
ORIg&z Mo 500,000
OL&2tE 2 S A(=500m) 200,000
ORZ=2 S EH(=1,50m) 800,000
Omgr M=z IS (L=500m) 200,000
O&EMME XL=Z I (L=500m) 100,000
O33~c&2t =2 I & (1=800m) 200,000
O= WxtE & (L=100m) 200,000
03 Al CHYI 15,000 15,000 0
OXYE=z S d 15,000
403 REXISHHIS K201 1,000,000 1,000,000
02 SO 2 SOCHE A= RIEFAIS I 1,000,000 1,000,000
OZ2 ADIEE MUEZ FEEHYA &
& 1,000,000
fEEz 2INA 500,000 900,000 A400,000
401 Al HILS0HY| 500,000 900,000 A400,000
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OSg~Da2t &2 SIE(L=4,120m) 500,000
Ostas~Fal2t &2 S F(L=2,463n) 500,000
O2FMNYE &2 SHEF(L=1,450m) 2,000,000
SECE HEE(=1,020m) 1,000,000
S0l EE 2NN 5,300,000 5,900,000 600,000
401 AIE2BIXL S THYI 5,300,000 5,900,000 2A\600,000
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ODIME R ST (L=420m) 200,000
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O8 &3l MYuwer It (L=40m) 1,000,000
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= 2,375,800
=S 1,863,000
Al 16,125,314
otd &l 20,364,114 19,967,333 396,781
= 2,375,800
= 1,863,000
Al 16,125,314
Agotd 72l 5,400,804 3,233,000 2,167,804
=S 1,243,000
Al 4,157,804
101 21AH| 20,000 20,000
04 JIZtN2 2N S 2+ 20,000 20,000
OdEiota FXl2tel 20,000
—HdEfSHE KX
83,3333 =202 +6 I E+2d 20,000
201 er=23| 269,804 163,000 116,804
01 AtR2te|Hl 259,804 147,000 112,804
O=F2 ot &l L= (EL, EHIDI,
W88+ 5) 240,000
O=g & ANRES 7,000
OZ3Exte gxz 12,804
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OSHHBEYEL 248 S)|es fus 3,000
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== 1,243,000
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Al 100,000
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Al 1,200,000
OXlgotd =4 A 846,000
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OXlglote ZXIE &4 40,000
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OXgotd 72l dAEAHSH 100,000
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OHEd HMEotd M=2ULEHE EY 135,000
OY&EA HHIBA 100,000
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OAIHE EHISA 180,000
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OZ2JIE HHISA 40,000
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03 Al 20HHI 10,000 10,000 0
OXlglote Al 20| 10,000
ASIEEHI(B240H0) (HEALY) 600,000 600,000
401 Al HIZ S 0HHI 600,000 600,000
01 Al&H| 600,000 600,000
240t FHI(L=0.5km) 600,000
2Ot EH| (ESAGH ) (M EALY) 3,000,000 3,705,000 705,000
401 AlZHIZ SO 3,000,000 3,705,000 705,000
01 A28l 3,000,000 3,705,000 A705,000
O=3tA6H FHI(L=0.5km) 3,000,000
LA (=2 A6H ) (B EALY) 1,200,000 0 1,200,000
401 Al HIZL S 0HYI 1,200,000 1,200,000
01 Al&HI 1,200,000 1,200,000
O==A5tA FHI(L=2.07km) 1,200,000
AOHEFHI (O KtAGHE ) (B & ALY 1,200,000 1,200,000
401 Al HIZ S 0HbI 1,200,000 1,200,000
01 Al&H| 1,200,000 1,200,000
O™ X6+ FHI(L=1.56km) 1,200,000
a0t = A2 3,600,000 4,290,000 A690,000
= 105,000
Al 3,495,000
401 AIEHIZ SR OHYI 3,600,000 4,290,000 690,000
= 105,000
Al 3,495,000
01 Al&HI 3,600,000 4,290,000 690,000
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o, =) 210,000
= 105,000
Al 105,000
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B TH L Ko
=9l ofd 3l EER-E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
—ota =g 50,0002 +8IHE+1H 400
= 400
—2HAlH| 3,000& »167 Z+9H 4,509
= 4,509
— 1=t 100,000 +9H 900
= 900
O=0t6td | L= ALY(5HE, 9Y) 169,097
—Jl== 1,686, 7402 «8 1 2 »9H 121,446
= 121,446
—S52+E 82,2802 x102+0H 7,406
= 7,406
—=Xt=g 82,2803 x342+0H 25,178
= 6,984
Al 18,194
— g xt=g 82,280 x82+9H 5,925
= 5,925
—sg2=¢ 123,4203 32 +9d 3,333
= 3,333
—gryag 50,0003 +8IH &+ 1H 400
2 400
—2HAH| 3,000 %167 2 +0H 4,509
= 4,509
— =4l 100,000 94 900
= 900
201 =3 59,880 58,800 1,080
= 50,000
Al 9,880
01 At22telt] 25,600 49,800 A24,200
Ogit=3H| 15,600
—&FAE RA22 AZS
400,000 1200 & 4,800
—224 ot AR2F 600,000& » 18 10,800
= 10,800
Ogx=z 10,000
-2 FH(HS, 82 &)
10,000,000& * 14! 10,000
= 10,000
02 S3=gHl 34,280 9,000 25,280
0332 € HMAl 720
— 2z 60,000 * 1204 & 720
= 720
OAIZZ&Hl S 26,000
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S Mol & T
s ofd & EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
— NS (0ED], E2E S) KA
200,0003 *30CH 6,000
= 6,000
—=Jtotd Al E FAl2cl
20,000,000& » 14 20,000
= 20,000
OXtgrdet] 7,560
25U S 630,000& * 12043 7,560
= 2,480
Al 5,080
206 M=l 18,400 10,000 8,400
= 15,000
Al 3,400
01 M2t 18,400 10,000 8,400
omzs| 18,400
—apD 22
10,000,000& » 14 10,000
2 0,000
NEE-ICESHEETIS
1,050,000 «8& 8,400
= 5,000
Al 3,400
309 HES 478,334 496,284 A17,950
01 SAL- SHIYHES 478,334 496,284 A17,950
OAld2telsH 478,334
401 AIEHIZ SR OHYI 530,000 560,000 30,000
= 130,000
Al 400,000
01 Al&HI 530,000 560,000 /30,000
OZl+Alg FAl2c 450,000
= 50,000
Al 400,000
O=Itet&(E8) DA== & SZF| 80,000
= 80,000
404 SAEEH = ES 12,200 29,700 A17,500
01 SAL- SEHH=EHES 12,200 29,700 17,500
OAld2telsH 12,200
405 KHoHFSH| 1,500 3,900 2,400
01 ML ESFSHI 1,500 3,900 A2,400
O=JtotazXl&el =8 1,500
—0ll=D| 500,000 *3CH 1,500
2IIetE KX E4=(50H2 2l ) 2,683,749 2,330,828 362,921
= 1,755,800
Al 927,949
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S ol & AHrO
s ofd &
RA - I BRA(E) - HRA - BES of vy A
101 @124H| 573,299 569,528
= 550,000
Al 23,29
04 JIZtN2 2S84+ 573,299 569,528
Ostaizel|@ o1 (59) 181,564
—JlZ2= 1,617,040« 12042 %5 97,023
= 97,023
—S5€+E 78,8803 172 +6%H 6,705
= 6,705
—Fx==g 78,8803 x52 2 x6H 20,509
= 20,509
— Xt 78,880 122 +56H 4,733
= 4,733
—5g=+ 78,880 x492 x5 +150% 28,989
= 28,989
—AlZ2tel=¢ 19,7203 *50 Al 2++6H 4,930
= 4,930
— Ay 3,000 x295.21 %52 4,425
= 4,425
L] 100, 0002 %524 500
= 500
—&&=z 2,750,000& x6H 13,750
= 13,750
OZJIotd |AEx A2 (&2, 1Y) 206,583
—JI2= 1,686, 7402 «8 E 11 148,434
= 148,434
—352=E 82,2803 %10€+ 11 9,051
= 9,051
—=X=g 82,280 #3411 30,773
= 30,773
— Xt 82,2803 8L 11H 7,241
= 7,241
-5 123,4203x32+11H 4,073
= 4,073
—otE =g 50,0002 +8IHE+1H 400
= 400
—2HAlH| 3, 0002+ 1672 #1124 5,511
2 5,511
— /=4l 100,000+ 11 1,100
= 1,100
O=0totd | A2 (0, 8Y) 150,353
—Jl2= 1,686, 7402 +81 2 ~8H 107,952
= 107,952




2A: A&
S THoH & THEHOI 2
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SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
—3254 =Y 82,2803 10«8 6,583
= 6,583
—F=x=g 82,2803 x34 2 +8H 22,381
= 22,381
— X 82,2803 *8U +8H 5,266
= 5,266
—5g= 123,420 32 +8Z 2,963
= 2,963
— Bt 50,0003 «8IH &1 400
= 400
—2tAald| 3,000 167 «8Y 4,008
= 4,008
— /=] 100, 00084 8 800
= 800
Otfil#=2 AL 222 (17Y) 34,79
=Jl22 78,8803 *25 2 *17H 33,524
= 10,225
Al 23,299
—2tAald] 3,000& x5+ 17H 1,275
= 1,275
201 LB-2AH| 264,350 264,300 50
= 225,000
Al 39,350
01 At=R2teld| 167,400 150,000 17,400
Oget=2H| 26,400
—&l=AlE SX2el 2R3
1,000,000& = 1291 & 12,000
= 12,000
—224 ot ABE 600,000& *24H 14,400
= 14,400
Ozels9h| 15,000
—HAE9H| 3,000,000 *& 15,000
ogxz 92,000
—=2Itotd =& Y RAS> 22X
950,000 x1CH+12& 11,400
= 11,400
—SAE2x (8BS, €T 3F)
80,600,000 14! 80,600
= 75,600
Al 5,000
OAld=7Xl2eldl 34,000
—=3JIotd AIE2 FXl2el
34,000,000 14! 34,000
= 34,000
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02 S5=g4l 96,950 114,300 A17,350
O=s2= & HAl 80,680
—HIIe3 2,100,000& « 1291 & 25,200
= 25,200
— MBI ERS (Y
400,000 1200 & 4,800
= 2,450
Al 2,350
—&ot=E s (HEES)
3,000,000& x5 15,000
—rEEN A4
200,000 #53| *x20H A 2,000
—2had 48
60,0003 * 1270 2 40 2 2,880
= 2,880
—=EE2EHI0| S 288
2,000,000& %14 2,000
= 2,000
—Stalds 75,0003 #1200 2 +3200 A 28,800
= 28,800
OXt&aet] 7,770
25U S 647, 5003 x 12043 7,770
= 7,770
OAIZ&Hl sXIbl 8,500
—ti+=2 FAES 500,000 %179 2= 8,500
= 8,500
206 M=l 21,800 13,400 8,400
= 15,000
Al 6.800
01 MZH| 21,800 13,400 8,400
O=x=gizaael A 10,000,000& * 14 10,000
= 10,000
Otli+=2 Mool =3
200,0003 #1704 A 3,400
OAZZHI(0=I1) *FU
1,050,000 «8 8,400
= 5,000
Al 3,400
401 Al HIZL S 0HYI 1,822,800 1,475,000 347,800
= 965,800
Al 857,000
01 Al&H| 1,815,800 1,468,000 347,800
Oz =AlE FAl2c 450,000
= 70,000
Al 380,000
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O=7totd (2 &) MY HHETCH23IH L) 330,400
= 330,400
O=)tot& (L) =2 AN TS (250 4) 365,400
= 365,400
O Es HigE= &hl 150,000
O (ItFRF) =X JIEAIE FH| 100,000
O=ototd (2d) N2 FH 220,000
O=JIotd (2 &) DA== & S| 200,000
= 200,000
03 Al 20HHI 7,000 7,000 0
OAIE20HbI 7,000
405 AtatsE = 1,500 8,600 AT,100
01 ML ESFSHI 1,500 8,600 AT7,100
O=JtotazXl&el =8 1,500
—0=2| 500,000 *3CH 1,500
NeotE =24 241,053 242,983 1,930
101 @124H| 150,353 161,083 AT30
M ORIMZZ2NSE S 150,353 151,083 AT730
OXYote KL+ LA (HEH, 8H) 150,353
—JlZ2= 1,686, 74028 2 +84 107,952
—s52sd 82,2802 x102+8E 6,583
—Fx==g 82,2803 34 2 x8H 22,381
— ¢ x=g 82,280 x82x8H 5,266
-5+ 123,4203 32 +8H 2,963
—gryag 50,0003 +8IH & +1H 400
—2kA| 3,000 »167 2 +8H 4,008
— =4l 100,000 8% 800
201 er23| 33,600 40,400 26,800
01 At2tltl 30,800 32,000 1,200
Odit==H| 16,800
—dAlE RA22 AZS
1,000,0002 1294 & 12,000
—=2Z2A o ARS 600,000 8% 4,800
OAlZ &I Xl 14,000
—0l=Jl S |XAH| 14,000,000 » 14 14,000
02 S3=4gl 2,800 8,400 A5,600
O eI 2,800
—=&U S 350,000 +80HE 2,800
206 M=l 5,600 5,600
01 M= H| 5,600 5,600
OAMEZHI(M=D]) RFU S
700,000 «8& 5,600




SA AL
S Mol & T
[ s Be] s eSfa] EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 50,000 50,000
01 Al&H| 50,000 50,000
Oz =AlE FAl2c 50,000,000& » 14 50,000
405 AtatE = 1,500 1,500
01 ML ESFSHI 1,500 1,500
Otl=2| 500,000 *3CH 1,500
NICHE MEHSHE SRAIS(HEAIY) 1,000,000 507,000 493,000
< 620,000
Al 380,000
401 Al HIZL S 0HYI 1,000,000 507,000 493,000
& 620,000
Al 380,000
01 Al&H| 1,000,000 507,000 493,000
ONUE HEfote S2 A 1,000,000
= 620,000
Al 380,000
Y 2HAH (AL 908,617 854,938 53,679
= 34,410
=S 387,307
Al 486,900
el 2E | 804,307 750,568 53,739
= 34,410
= 387,307
Al 382,590
Czae2 762,546 710,345 52,201
=S 387,307
Al 375,239
101 21AH| 756,214 705,904 50,310
== 387,307
Al 368,907
03 SRA(RIH )22 U2+ 756,214 705,904 50,310
ozzeld 756,214
—Jlzs 2,950,000& x12& ~ 159 531,000
= 387,307
Al 143,693
—HE=JH 1,770,0002 23|15 53,100
—AREASE 150,000 x12& «15& 27,000
—Ag+E 150,000 x 122« 15& 27,000
—gyag 130,000 x 121 1,560
—ItESE 77,0002« 12« 15H 13,860
—ZU2RY
20,2403 23 A1 2t 123+ 159 83,7%4
— ¢ x==g 105,000 x 12« 15& 18,900




A AL
M AHHHZHI(HALD)
el QIEE2E M)
SA - BB SRAGIH) - NSAY - BES i s
201 22 6,332 4,441 1,891
01 AFS2t2ltl 6,332 4,441 1,891
OlLl=H| 200,000& *15H 3,000
OS=AdZH 8] 158,960 «15& 2,385
OXged=dr+8 947,000& *12] 947
2GR X E 2= (50122 SI1H<) 41,761 40,223 1,538
= 34,410
Al 7,351
101 Q124H| 41,561 40,023 1,638
= 34,410
Al 7,151
03 SRA(RI1HI2t e 41,561 40,023 1,538
OctE=Z & AIRE=X 41,561
=Jl2a 2,408,500 120 21 28,902
= 21,751
Al 7,151
—HESIHI 2,395, 4503 25|+ 1H +60% 2,875
= 2,875
— R 150,000& x 1204 &1 1,800
= 1,800
—IE== 40,0002 120 B 1Y 480
= 480
— Xt 85,2202+ 1221 1,023
= 1,023
—U32HE 43,302 120 &1 521
= 521
—Z 2R
10,6503 *17 Al 2++500 2 x150% 1,358
= 1,358
-5
85,2203 3 x 121 & »150% 4,602
= 4,602
201 23] 200 200
01 AFS2teltl 200 200
OLl=H| 200,000 x 14! 200
=&l 104,310 104,370 260
Jl=&H| 104,310 104,370 260
201 22 31,860 31,860
01 AFR2t2ltl 31,860 31,860
SN Il 81,860
202 044l 67,050 67,050
01 =WHO4 bl 67,050 67,050
O=LH0bI 67,050
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